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SI 2 rule qhteren.ge

C angles
E

F C rule interior
angles

H supplementary
angles F rule corresponding

2 angles
rule vertically

L opposite
angles

V
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E rule alternate
interior F rule corresponding
angles are equal angles

E are equal
C rule interior

angles are
supplementary rule vertically

opposite
angles
are
equal

alternate interior angleswill be equalinterior angles will be
supplementary
corresponding angleswill be equalalternate exterior angles
will be equal
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the lines must be
parallel

417313 1140 vertically opposite
2CBD 180 114 66 supplementary

angles
2 BDE 66 alternate interior

2CBD 180 125 supplementary
550 550

no because corresponding
angles are equal if thelines are parallel

Verticallyoppositeangles
17 70 3yt5

Interior angles
3yt5 t 59 157 180 17K 70 312031 5

8g t20 180 60 5

Zo 20 172 70 65

8g 160 70 70

42 8 8 177C 735



p.tt try 737
55 NE 7.9


